
Previously I was able to do light and heavy on separate panels in the same window.
Also the heavy TAE… peptide production ion (heavy was 581.63)



Now I cannot do light and heavy on 
separate panels in the same window.
Also the heavy TAE… peptide 
production ion (heavy was 583.63; not 
sure what  wrong this time and where 
did 581.63 go)



Heavy peptide mixture in cell line



The same heavy peptide mixture in more 
complicated sample.
Why the pink peak becomes more than 1 peak, at 
different retention time, and unmarked?


